[bookmark: _GoBack]WM Revision Questions: Answers
1.	One mark each for points in bold and then any one other up to a total of 5 marks:
Spot small sample of liquid mixture on (base) line (1);
on plate/sheet (1);
solvent in beaker below sample (1);
cover beaker with lid/film (1);
leave until solvent front nears top of plate;
locating spots with iodine/ uv radiation (1);
2 spots seen AW (1).	5
[5]

 
2.	(a)	(i)
[image: ]
H2O (1).	2
 
(ii)
[image: ]
Formula for ethanoyl group correct (1);
Both groups correct and in correct positions (1);
HCl (1);	3
 
(b)	(i)	3600-3640 cm–1 O-H or 3200-3600 cm–1 O-H;
1050-1300 cm–1 C-O;
1 mark for the correct frequency and bond for each peak (2).	2
(ii)	Purple, allow any shade of purple/violet but NOT pink (1).	1
[8]

 

3.	(a)	(i)	2CH3OH + O2 → HCHO + 2H2O species(1) balancing (1)	2
 
(ii)
[image: ]	1

(b)	(i)	nucleophilic (1); addition (1)	2
(ii)
[image: ] COOH (1) Rest of structure (1) Allow OH
no ambiguous attachments
(2)-hydroxyethanoic acid (1) no ecf; IGNORE number before hydroxyl	3
[8]

 
4.	(a)	(i)	Phenol/hydroxyl (1)	1
 
(ii)	Iron(III) chloride (solution) (1);
purple colour forms (1) as always any shade of violet/purple,
ignore starting colour.	2
 
(b)
[image: ]
1 mark each for the aminophenol/allow phenate ion, and ethanoic
acid/ethanoate (2);
1 mark for correct ionic charge on O– of ethanoate (1).	3
[6]

 
5.	(i)	Infrared frequencies are absorbed by molecules causing bonds to vibrate
(faster) AW (1);
different bonds/functional groups give peaks at different frequencies (1);
C=O 1735–1750 cm–1 (1);
C–O 1050–1300 cm–1 (1).	4
 
(ii)	Hydroxyl/alcohol/OH group (1);
O–H peak/absorption at 3200–3600 cm–1 (1).	2
[6]
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